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M.Com. DEGREE EXAMINATION, NOVEMBER 2015.

I YEAR — I SEMESTER

Paper II — ADVANCED FINANCIAL MANAGEMENT
Time : 3 hours
   


       Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What do you mean by Financial Management?

2. Write a note on Financial Forecasting.

3. What is meant by Capital Structure?

4. What is Leverage?

5. Write a short note on Dividend policy.

6. What do you mean by Cost of Capital?

7. Briefly explain the Time value of Money.

8. Explain the meaning of Sensitivity analysis.

9. Why is working capital needed?

10. What is a credit policy?

11. Calculate the return of Investment from the following:

EBIT ` 4, 20,000 and Capital employed ` 30,00,000.
12. The investment in a particular project has a cost of ` 12,000. Life is 4 years. Annual CFAT is ` 4,500. Discount rate is 14%. Perform the sensitivity analysis of this project with respect to investment cost.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13. Explain the role of financial manager in  changing scenario.

14. Critically examine the factors that determine the Capital structure of a firm.

15. List out the different components of Working capital management.

16. From the following information find out the level of earnings before interest and taxes (EBIT) situation at    
(a)
`  2,00,000 
(b)
` 1,00,000

Total funds required
 - ` 10,00,000

Financial plan A
 – 100% equity shares of Rs. 10 each

Financial plan B
 – 50% equity shares of Rs. 10 each and 50%, 15% debt.

Tax rate

 – 40%.

17. From the following capital structure of a company, calculate the overall cost of capital, using book value weights.

Source



Book value

Equity share capital

45,000

(Rs. 10 shares)

Retained earnings

15,000

Preference share capital
10,000

Debentures


30,000


The after- tax cost of different sources of finance is as follows:


Equity share capital: 14%; Retained earnings: 13%; Preference share capital: 10%; Debentures: 5%.

18. The budget for product P is given as follows:

Sales



3,00,000

Direct Material

1,00,000

Labour


   60,000

Variable overhead
   40,000

Fixed overhead
  
   50,000
Profit


   50,000



Required: Test the sensitivity of the budget to 10% changes of:

(a) Material

(b) Labour

(c) Variable overhead

(d) Fixed overhead

(e) Sales price

(f) Sales volume.

Which is the most sensitive variable?

19. You are required to calculate optimum cash balance from the following information:

Monthly cash requirements

- ` 60,000

Fixed cost per transaction 

- `  10


Interest rate on marketable securities - 6% p.a.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.

20. Explain the functions of a finance manager.

21. The earnings per share of a company is ` 10. The internal rate of return on retained earnings is 20%. The company follows a policy of payout ratio of 60%. Using Walters model the theoretical market price of an equity share is Rs. 140. Are you satisfied with the current Dividend policy of the Company? If not, what should be the optimum payout ratio?

22. Following information has been made available from the cost records of Ram automobiles Ltd. Manufacturing spare parts:

Direct materials

per unit

X



`  8

Y



`  6

Direct wages:

X




24 hours @ 25 Paise per hour

Y




16 hours @ 25 Paise per hour

Variable overheads

150% of direct wages

Fixed overhead (total)

Rs. 750

Selling price

X




` 25

Y




`  20

The directors want to be acquainted with the desirability of adopting any one of the following alternative sales mixes in the budget for the next period.

(a) 250 units of X and 250 units of Y

(b) 400 units of Y only
(c) 400 units of X and 100 units of Y

(d) 150 units of X and 350 units of Y

State which of the alternative mixes you would recommend to the Management.

23. From the following information, extracted from the books of a manufacturing company, compute the operating cycle in days and the amount of working capital required:
Period covered






365 days

Average period of credit allowed by suppliers
16 days









          (` in ‘000)

Average total of Debtors outstanding

     480

Raw material consumption



  4,400

Total production cost




10,000

Total cost of sales




10,500

Sales for the year




16,000

Value of Average stock maintained:
Raw material




    
      320

Work-in-progress



 
      350


Finished goods





     260.
——————




[P.T.O.]
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